Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

7.6544 =107

4.5906 + 10°

1.8535 +10?

9.426 - 107

4.1957 x 10?

6.8477 x 10°

8.7217 x 102

9.3494 = 102

6.2885 + 107

5.9023 x 102

8.6641 + 102

6.6868 = 102

9.1797 x 10?

4.0369 + 102

5.4456 = 102

7.1931 x 10?

5.9746 x 10°

5.345 = 102

9.5527 +10?

2.8185 x 10°

MatesLibres.Com




Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

7.6544 102
0.076544
4.5906 = 10?
0.045906
1.8535 =107
0.018535
9.426 + 107
0.09426
4.1957 x 102
419.57
6.8477 x 10?
684.77
8.7217 x 10?
872.17
9.3494 = 10?
0.093494
6.2885 + 10°
0.062885
5.9023 x 10°
590.23

8.6641 <+ 102
0.086641
6.6868 + 10?
0.066868
9.1797 x 107
917.97
4.0369 = 10?
0.040369
5.4456 107
0.054456
7.1931 x 10?
719.31
5.9746 x 10°
597.46
5.345 + 102
0.05345
9.5527 + 107
0.095527
2.8185 x 10°
281.85
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